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352 54 limx—>2 f(x) s g limx—>2+ f(.X') =5 :L\SlS \J\ 1
¢ limx—>2_ f(.X') 4"‘5‘3 Lad
If lim,_,+ f(x) =5 and lim,_, f(x) is exist.
What is the value of lim,_,,- f(x)?

NN

(1, 4) il die fx) =3+ a2 Al Guleal) Dilas 234
Find the equation of the tangent to the function f(x) =3 + x? at
the point (1, 4).

y=2x+2 []
y=2x—-2 []
y=3x+6 [ ]
y=3x—6 [ ]

Find the derivative of the function  f(x) = V4 —x Al Al aagl | 3

f'o)=—= []
f'@ == ]
f'@=7= [
f'(x) = :_x []
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cveu G quadaa y =y y @ilsl) |,
u.(1)=4,u (1)=3 ,v'(1)=2, v(1)=1 i

Y (1) 2l
If y=u. v isthe product of the function,
and u(1)=4, u'(1)=3, v'(1)=2, v(1)=1
Find y(1).
6 []
8 []
11 []
14 [ ]

F0) 28 f(x)=—20. AN ,3) |5

1+x2 °
Consider the function f(x) = — Find f'(0).
1 |:|
1 ]
e []
e+l [ ]
. f(x)=2x3+ 3x% —12x Alall A o) a2l | €

Find the critical values of the function f(x) = 2 x3 + 3x? — 12x.

1,-2 [ ]
1,2 []
1,2 []
1,2 []
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f)=3x+ 6x . AW | 4
Augbliie Aol Lgade 0 9<E A il 38l 2y

Consider the function f(x) =3x% + 6 x.
Find the intervals in which the function is decreasing .

NN

End of the multiple-choice questions. Ae un gall ALY gl
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rdad) il ghad s 6 g ¢ Aladl panadiall £181 & dlila) GiS) ¢ 10 ) 8 (e ALl e LlaY) sie

<l 8 8

) ) k x> x <2 v .
A. Consider the function X { ’ = = Al pde) A
f(x) 3 , X > 2

X. = 2 Yo ddaia f(x) A Jaad Al fo i) Lagd aa

Find the value of the constant k that makes f(x) continuous at x = 2

( Show your work) (D) @l ghad i)
2
lim (5’“—6"4) B. Find 2 .B
n=>0\ 3xt+x+4 ) S
3
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8 iy

C. If f(x) = —)’Z‘f;ﬁ il 13 L ¢
Find lim,_ s f(x) 2l
( Show your work) (Ja) @l ghad ik g)
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a9 9

XZ+X}/_}/2 =1 E\J\.ﬁl y' J%Ji A
Alf x2+xy-y2 =1
Find y’
( Show your work) () Qi ghd may)
5

¢ 4 ol [1,3 ]88 A f(x) A aal Jue bugia QIS B
¢ =5 gols [3, 7] A Al st Jue bugiag
L1, 7] 348 A F(a) Aall il e Jasigia 3
B. If the average rate of change of the function f(x) on the interval [1, 3]

equals 4, and the average rate of change of the same function f(x)
on theinterval [3,7] equals -5.

Find the average rate of change on theinterval [1,7].

( Show your work) () gkl may)
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Ol 9 10
) =3 +3x24+1 AW Ll A
oY Taka Al dade g 068 Al )
JE ) jalke A aia Lgd (98 AN ol 58 )
LAl Caland) Jal&S
B. Find the following for the function f(x) = x3+3x%2+1
. The intervals where the curve of the function is concave upward.

II. The intervals where the curve of the function is concave downward.

lll. The inflection points.

( Show your work) (Jad) < i 7uda )
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10 &5

A1) Aadal Gulaal) Adalas 329 B
ng dhill Mo y = sinx — cosx

B. Find the equation of the tangent to the curve

y =sinx — cosx atthepoint x = %

( Show your work) () i ghd may)
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10 &5

cg(x)=3xs f(x)=tanx <is ﬁ{.c
(fog)(x) =4
C.If f(x)=tanx and g(x)=3x,

Find (fo g)'(x).

( Show your work) (o) &l i il g)

End of all questions . 4Lis¥) aran cigdil
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